PAPER-II
EDUCATION

Signature and Name of Invigilator

1.

2.

J [ 1

(Signature)
(Name)
(Signature)
(Name)

6

Time : 1 /4 hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

w

PN

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.

After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example : o @ ®

where (3) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

(i)

(iii)

. Use only Black Ball point pen provided by C.B.S.E.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.

. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.

—

12.
13.

wienteat & for feEw

T YL % FW a0 ©H W AT Ia TR farfEn |
T Y0 W e Sgiesheds we ¥ |
e TR B W, Wgﬁﬂmaﬂqﬁ%ﬁaﬁﬂﬁ | e
ure e AT ueE- e T ST Hfetad
St % e fe2r s, S ST ST HAT T
(i) TRA-GH WeH & T G T o B A

ﬁm@r |§ﬁ§%mﬁm@mﬁﬁaﬁqﬁﬂaﬂ

Wa&m

rfafea avg
(iii) 39 S o 9 TRA-JRH 1 R OMR T W 3t Y
3T OMR ek & e 38 9 T 3T T |
mm%mwwﬁm(l) ), 3) T @) @™
¥ | TR T SR F g7 B U W RET BT HET F NG
o et femmn T ¥
EuUTORON N6
eIt (3) el S E |
TYHT % ST el U3 Yfeeht % 3T &8 T8 OMR U UT
1 aifee 1 & 1 3 3T OMR T W {58 73 9 o St
3T T W 3T | T SHBT HodThT
BRIl
Wﬁ?}l@ﬁé‘\’ﬁﬁmﬁa; -
el M (Rough Work) TH IRETeRT & 311 T8 W |
Ifg 39 OMR s WX {9 ®IF & 3Teqel 3791 =, el
Wqﬁqwmaﬁg%ﬁﬁmﬁﬁﬁmeﬁ

form ts FoprreTes oih 7 & |
aﬁaﬁﬁm%ﬁfaawﬁﬁ%ﬁwﬁﬁ a?aﬁt—ﬁféaw
Afq O S |

soots | MIAIN

P.T.O.



EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Assertion (A) : The matter as sensitive as education cannot be left to the educators alone.
Reason (R) : Philosophy is the general theory of education.
Which of the following options is correct ?

(1)
2
3)
4

Both (A) and (R) are true, but (R) is not the correct reasons.
Both (A) and (R) are true and (R) is the correct reason.
Both (A) and (R) are not true.

Only (R) is true, but cannot be the reason for (A).

2. Which of the following combinations is correct ?

@
(ii)
(iii)
(iv)
M
2)
3)
“)

Rousseau : Emile

Dewey : Democracy and Education
Russell : Education and Social order
White head : Process of Education
(1), (1), (iii) & (iv)

(1), (i) & (iv)

(i) and (ii)

(1), (1) & (iii)

3.  The educator drawing inspiration from existentialism will prefer to do the following :

(1)
(i)
(111)
(iv)
v)
ey
2
3)
“4)

Developing intense self awareness among students.
Imparting knowledge through lecture sessions.
Holding in depth counselling sessions.

Promoting a sense of ownership and responsibility.
Providing incentives to meritorious students.

(1), (i1), (iii) and (iv)

(i1), (iii), (iv) and (V)

(i), (iii) and (iv)

(1), (iii) and (V)

4. In Indian system of education, following have been some of the focal pedagogic concerns.
Which of the combinations is most favourably associated with teaching learning process ?

@
(iii)
)
(M
3)

Paper-1I

Tarkan (i) Vada
Manan (iv) Vitanda
Shravan (vi) Nididhyasana
(iii), (v) and (vi) 2) (1), (1), (ii1) and (v)
(1), (iii), (v) and (vi) 4) (i), (1), (v) and (vi)
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5. Which of the following are the implications of Samkhya Philosophy ?
(1)  The dualistic nature of things should be explained through education.
(i1) Education should help the learner to realize the supremacy of spirit over matter.
(i11)) One should be prepared to face “Pralaya” one day.
(iv) Every human being is ‘trigunatmak’ by nature.
(1 (@), (), (i) & (iv) (2 (@), (1) & (iv)
3) (), (i) & (iii) 4) (i), (iil) & (iv)

6.  Which is the correct sequence as per eight fold path of Buddhist Education ?

(1) Samyak Vyayam (1)) Samyak Smrithi
(i) Samyak Sankalp (iv) Samyak drishti

(1) (iii), (iv), (i) and (ii) (2) (iii), (iv), (ii) and (i)
(3) (iv), (ii1), (ii) and (i) (4) (iv), (iii), (i) and (ii)

7.  Which of the following combinations is not correct ?
(i)  Gandhi : Humanistic Education
(1)) Tagore : Craft Education
(ii1))  Aurbindo : Integral Education
(iv) Vivekanad : Man making Education
(1) (i) and (iii) (2) (ii) and (iv)
(3) (i) and (ii) (4) (i) and (iv)

8.  Which of the following combinations is correct ?
(1) Tagore : Shree Niketan
(1)) Gandhi : Multiple Schools
(iii) Aurbindo : Mirambika
(iv) Vivekanand : Ramkrishna Mission Schools
(1) (i), (i) and (iv) (2) (i1, (iii) and (iv)
(3) (i), (ii) and (iii) 4) (i), (iii) and (iv)

9. Assertion (A) : In a democratic set up the first and the last citizen have equal rights
because

Reason (R) : Liberty and fraternity are two pillars of democracy.
Which of the following options is correct ?

(1) Both (A) and (R) are true, but (R) is not the correct reasons.
(2) Both (A) and (R) are true and (R) is the correct reason.

(3) Both (A) and (R) are not true.

(4)  Only (R) is true, but cannot be the reason for (A).

Paper-11 4 J-09-16
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10. Whose contribution is not related to Logical Positivism ?
(1) A.J. Ayer (2) Bertrand Russell
(3) Karl Jaspers (4) Rudolf Carnap

11. Upward social mobility of students and teachers is closely connected with

(a) Educational achievements (b) Political ties

(¢c) Academic merit (d) Religious affiliation
Choose the correct set of answers from the following alternatives.

(1) (a), (b) and (c) (2) (b), (c) and (d)

(3) (a), (b), (c) and (d) (4) (a), (b) and (d)

12. The aim of equality of educational opportunity draws its support from the vision of
(a) building up of an egalitarian society.
(b) ensuring social justice.
(c) the belief that all humans are born equal.
(d) strengthening of democratic social order.
Choose the correct set of answers from the following alternatives.
(1) (a), (b) and (d) (2)  (a), (b) and (¢)
(3)  (b), (c) and (d) 4 (a), (b), (c) and (d)

13. The term ‘modernization’ connotes :
(a) Movement from traditional to desired types of technology.
(b)  The substitution of old images and forms with new ones.
(c) Imitation of some modernized country.
(d) Modification and improvement of standards of performance.
Choose the correct set of answers from the following alternatives.
(1) (), (b) and (c) (2) (a), (b) and (d)
(3) (b), (c) and (d) (4) (), (b), (c) and (d)

14. The term ‘social mobility’ connotes :

(a) Movement from one stratum of society to another stratum of society on the higher
level.

(b) The phenomenon of movement of a person within social space.

(c)  Shifting of a person from one situation to another situation on the same level.
(d) Movement of a person from one position to another position at lower level.
Choose the correct set of answers from the following alternatives.

(1) (a), (b) and (¢) (2)  (a), (b) and (d)

(3) (), (b), (c) and (d) (4)  (b), (¢) and (d)
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15.

16.

17.

18.

19.

20.

Which of the following is not a characteristic feature of a cultural person ?

(1)
2)
3)
4

A person who appreciates good ideas and art.

A person having broad human interests and social efficiency.

A person who is too assertive, too dogmatic and aggressive.

A person who does not manifests extremes of passions or feelings.

Which one of the following is not an active agency of socialization ?

(1)
3)

Community Centre (2) Family
Religious Institution (4) Railway Station

Which of the following does not correctly convey the meaning of ‘sociology of
education’ ?

(1)
2
3)
“4)

Application of the principles of sociology to the field of education.

Analysis of the sociological processes involved in the educational institution.

Exploring the way in which education is linked to society.

Showing concerns for the social implications of educational growth.

The functional pre-requisites of a society are

(a)
(b)
(©)
(d

a society must provide role differentiation and assignment.
a society must provide a means of communication for its members.
a society must establish a shared and articulated set of goals.

a society must constrain its members to follow uniform knowledge, beliefs, art,

customs and habits.

Choose the correct set of answers from the following alternatives :

ey
2
3)
“4)

Which one of the following is not a component of the structure of a social system ?

ey
3)

(b), (¢) and (d)
(a), (b) and (c)
(a), (b) and (d)
(), (b), (¢) and (d)

Cultural values (2) Regulative norms
Varieties of roles (4) Attainment of goals

When a social science teacher discusses with his students about manners and conduct
expected from them at home and in community, from the chapter of a textbook this can
mostly be referred to as

€]
2
3)
4

Paper-1I

Conservative function of education.
Transmutative function of education.
Progressive function of education.
Reformative function of education.

J-09-16
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21.

22.

23.

24.

25.

Assertion (A) : Educational Psychology as a subject owes its source to disciplines like
psychology, philosophy, group dynamics and similar others.

Reason (R) : It should be treated, therefore, interdisciplinary in nature.

Which of the following options is correct ?

(1) Both (A) and (R) are true, but (R) is the correct reason for (A).

(2) Both (A) and (R) are false.

(3) (R) is true, but cannot be the reason for (A)

(4) Both (A) and (R) are true, but (R) is not the correct reason for (A).

Which of the following psychologists may be assigned the credit for focusing on cognitive
aspects of growth and development ?

(1) Erickson (2) Bruner

(3) Ausubel (4) Piaget

Match the stages of development with their most conspicuous characteristics in the two
sets given below :

Set — 1 Set — 11
(Stages of Development) (Most conspicuous Characteristics)
(a) Early Childhood (1)  Heterosexual acts
(b) Later Childhood (1)) Exploring the neighbourhood friendship
(c) Adolescence (ii1) peer friend
(d) Adulthood (iv) Seasoneds outlook

(v)  Drawn toward hero-worship
(vi) Religious choices

Codes :

(a) (b) () (d)

(H G (iii) v) (1)

(2) (i) (i) i) (v

3 (W) (vii) (1) (i1)

(CORNC)) (i) (iv) (v)

Individual differences in creativity among school children will help the teacher at the time
of

(1) Conducting summative evaluation.

(2) Organizing teaching-learning processes.

(3) Planning instructional act.

(4) Judging the impact of teaching.

A teacher intends to assess the students ability to cooperate and collaborate in ‘Swachhata
Abhiyan’ being conducted as a school project. Which of the following ‘Intelligence test’
will be considered helpful to him/her in this task ?

(1)  Group test of intelligence

(2) Test of spiritual intelligence

(3) Gardner’s theory based test of intelligence

(4)  Scale of emotional intelligence

Paper-11 10 J-09-16
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26.

27.

28.

Which of the following theory of motivation is intimately related to Tolman’s theory of
learning ?

(1)  Victor Vroom’s expectancy theory.

(2) Abraham Maslow’s Need hierarchy theory.
(3) Clayton Alderfer’s ERG theory.

(4) J.C. Mclelland’s Achievement need theory.

In which of the following Pavlovian procedure, the unconditioned stimulus follows after
the termination of conditioned stimulus has taken place ?

(1) Delayed conditioning (2) Forward conditioning

(3) Trace conditioning (4) Backward conditioning

Match the operant conditioning procedures given in Set-I with the nature of
reinforcement, response made on withheld with cue (being present or absent) given in Set-
II by selecting the correct code :

Set -1 Set — 11
(Operant Conditioning (Nature of reinforcement with cue present or
Procedure) absent and response made/with held)
(a)  Omission Learning (1) Negative reinforcement with cue present

when response is made.

(b)  Escape learning procedure (i) Negative reinforcement with cue absent when
response is withheld.

(c) Punishment learning (i11) Positive reinforcement with cue absent when
procedure response is withheld.

(d) Active-avoidance learning (iv) Negative reinforcement with cue absent when
procedure response is made.

(v) Positive reinforcement with cue present and
response is made.

(vi) Positive reinforcement with cue present when
response is withheld.

Codes :

(a) (b) (© (d)
() (id) (v) (vi) (i1)
@ (i1) (iii) (iv)
(3) (i) (1) (iv) (v)
4 @) @1v) (i1) (1)
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26. <ot & St fagra ¥ feitehd § ¥ % A1 SR 1 a5 8 e &9 | g § 7
(1) o g0 %1 vemn g
(2) 3TSTEH HIEA F ETIAHAT- 3T g
(3) FoIe UeTSHT T 37T g
(4) S SFlcis T - srevaswar fag

27. UdclfoRH e i fhq F=ifhd ugfad W SFatud SEUe W W @l g’ SH W

S 31Uk AT ST € 2

(1) focttee sreem (2) WEdr A
(3) o s (4) TR ST

28. Tl § XU MU FoRaT-URd STEEA W Ud i -1l H UET e i Ui, SThAT ScaT A
3TGF HYH b T Tehel i JuRTT A1 Fufefa guferd it :

"@e-1 "qe-1I
(FraT-wae SreeE ®t ugfta) (U it UehTeT, Wehel 1 SUFRFA a1 Sraferta qem
AT Iq AT AAGF FHAT ATT)

(a) 3TRH 3TFTH UgTd (i) PRSP UaeH, SErh Gohd SUNId &
3TfoRAT AT & |

(b) I AT Yd (i) TPRIHE Vee, Sah Hobd STUNRIT & 3R
3TfHAT 3Taeg &l |

(c) T 3N uFhd (i) THRTHAS Ve, Safh Gobd TIUNRIT & e
3T 3Taeg &l |

(d) |HT aRER T UFTd (iv) THRIHAS Ueoi Safch Hohd U & qer
3TfeRAT AT & |

(V) UHRIHS VEoH, STaih Hebd SUNSd @ ar
3TfeRAT A & |

(vi) THRIHS UiqeeH, SErh Gohd ST & ar
3TfHAT 3Tae5 &l |

(a) (b) (©) (d)

() (i) (v) (vi) (i)

@ @ (i) (i) ()

(3) (i) (1) (iv) (v)

@4 @) (31v) (i) (1)
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29. In the following list, six learning types as given in Gagne’s hierarchy are indicated with
incorrect sequence. Select the correct choice showing the exact sequence assigned by
Gagne.

List :
Chain learning, Signal learning, Concept learning, Discrimination learning, S-R learning,
Problem solving learning.

(1)  S-R learning, Signal learning, Chain learning, Concept learning, Problem solving
learning and Discrimination learning.

(2) Signal learning, S-R learning, Chain learning, Discrimination learning, Concept
learning and Problem solving learning,

(3) Discrimination learning, Concept learning, Problem solving learning, Signal
learning, Chain learning and S-R learning.

(4) S-R learning, Signal learning, Chain learning, Discrimination learning, Concept
learning and Problem solving learning.

30. In Hull’s drive-stimulus reduction theory the following is an input variable
(1) Habit-Strength (SHR)
(2) Incentive motivation (K)
(3) Drive (D)
(4) Number of Reinforced Practice Sessions

31. Match the following two sets and select the correct code.

Set -1 Set — 11
(Types of Children) (Method of Education)
(a) Gifted Children (1)  Caring and Supporting
(b) Backward Children (1))  Setting challenging goals
(c) Learning disabled Children (i11)) Guided practice
(d) Retarded Children (iv) Drill and exercises

(v)  Question-Answer Sessions
(vi) Brain storming

Codes :

(a) (b) (© (d)

L @ (i1) (v) (vi)

(2 (vd) (v) (i) (i)

3 @ (iv) (i) (i)

@4 () (iii) (iv) (1)

32. A student with high anxiety level and depression comes to a teacher for guidance. Which
of the following personality assessment techniques will be appropriate in such a
situation ?

(1) Personality Inventory (2) Interview Schedule
(3) Questionnaire (4) Projective test
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=

AT 3T

(1) E 3EfeRan ey, Tobd ey, SEeT SIeATH, TR STy, QT GUTdH ST
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THET T S
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(4) SEIUSH-3TeRaT AT, Tobd AT, S@eT ST, ToSieRior i, Tmres ST qar
THET-GHTE AT

30. ol & FHIG-SE U BIa [FaTd § STlfeiigd 2 T ¢
(1) ARd-det
(2)  WeH-SANTTROT
(3) IR
(4) YT NI T T T&AT

31. frAfafEd < 92t t Gafad ST IR el $ H1 99 HiT

qe -1 qe-1I
(=4t T UHR) (e =61 fafi)
(a) WiqTTe T (i) & 3T 3T FerdT T
(b) =g aT=a (i) AT AeT T HEAT
(c) ATy 3TRTeRT a=d (iii) TR =R
() veghg = (iv) AT 3R HH
(V) U¥H-3TR F@eln
(vi) Torammemr

Fe
(a) (b) (©) (d
(CO () (ii) (v) (vi)
2 (v (v) (ii) (iii)
3 (iv) (iii) (ii)
@4 (i) (iii) (iv) (1)
32. UF =9 Taw TR UG SE9RIR (el Rt et % oy v o o € | 39 uRietd |/
TeAitehd & & i | SAfoRTce WRieTor fafer Sugert gt 2
(1) ST dTfeTshr (2) TR ST
(3) vt (4)  VEIooT URieToT
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33.

34.

35.

36.

37.

38.

Defence mechanisms are used by a normal person.
(1) Consciously in his/her support.

(2)  Unconsciously for adjustment.

(3) Consciously to defer the problem.

(4) Unconsciously to create embarrassment.

In a classroom context new entrants exhibit the problem of adjustment through
(1) hostile acts (2) attention getting tactics

(3) asking what is expected from them (4) avoiding teacher contact

Development of wellness lifestyle depends largely on
(I) mental health

(2) mental hygiene

(3) adjustment problems

(4) proper use of defence mechanisms

In qualitative research design, the term reliability means
(1)  Accuracy of measurement

(2) Consistency of measurement

(3) Congruence in data collection and analysis.

(4) Replicability of the research

A researcher has tested his/her research hypothesis through setting up a null hypothesis
that, “........ there is not significant difference between the two sets of data”. He/She finds
that in the phase of available evidence, the H) is to be rejected at the alpha level of 0.01.
In that case, what will happen to his/her research hypothesis ?

(1) Research hypothesis will also be rejected.

(2) No decision can be taken about the research hypothesis.

(3) Research hypothesis will have to be accepted.

(4) The study should be replicated.

In using two-tailed tests, the direction of difference is
(I)  known in advance

(2) not known in advance

(3) to be known in advance

(4) to be neither known or not known
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34.

35.

36.

37.

38.
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39.

40.

41.

42.

Match the items in Set-I with the items in Set-1I and use the correct code to indicate the
answer.

Set — 1 Set — 11
(Type of correlation) (Conditions)

(a) Biserial correlation (i)  Both the variables have to be on interval measure.

(b) Point biserial (1)) One variable is a genuine dichotomy and the other is
correlation an interval measure.

(c) Tetrachoric (ii1)) Both the variables are genuinely dichotomous.
correlation

(d) Phi coefficient of (iv) Both the variables are in a forced dichotomy.
correlation

(v)  One variable is ordinal and the other is nominal.

(vi) One variable on forced dichotomy while the other an
interval measure.

Codes :

(a) (b) () (d)
(1) (i) (iii) (vi) >iv)
2 @ (i) (vi) (i)
3 (v (i) (v) (i)
@  (vi) (ii) >iv) (iii)

In a study, students of an elementary school were taken up to explore the effect of
malnutrition on their wellness life style. In terms of research design, which of the
following will be the most appropriate for such a situation ?

(1) Field Study Design
(2) Laboratory Experiment Design
(3) Ex Post Facto Research Design
(4) Descriptive Design

In order to lay down a procedure for testing the significance of ‘t’, the researcher has to
(1) decide in advance the alpha-level.

(2) decide the alpha-level after the results are obtained.

(3) simply consult a ‘t’ table.

(4) depend on the value of probability attached to ‘t’.

Which of the following correlation coefficients can be considered as non-parametric in
nature ?

(1) Point-Biserial correlation (2) Product moment correlation
(3) Partial correlation (4) Rank difference correlation
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39.

40.

41.

42.
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43.

44.

45.

46.

A researcher formulates his/her hypothesis of study as follows :

“The more the adolescents are exposed to social media, the lower their levels of
academic achievement likely to become”.

In the statement of hypothesis, independent variable will be
(1) Academic achievement (2) Social media
(3) Exposure to social media (4) Low levels of academic achievement

Match the items in List-I with the items in List-II and use the correct code to indicate your
answer.

List -1 List — II
(Threat to internal validity) (Explanation)
(a) Mortality (1)  Effect due to natural changes in the subjects.
(b) Statistical regression (i) Extraneous variables occur during research
and affect the results.
(c) Maturation (ii1)) Systematic loss of subjects.
(d) History (iv) Tests or responding to a questionnaire affects

the subjects.

(v)  Unintended effects of the researcher on
subject responses.

(vi) Result may be due to respondents being
identified on the basis of extreme scores.

Codes :

(2) (b) (©) (d
(H (@) (i1) () (V)
2 ™ (i1) (iv) (i)
(3) () (vi) () (i1)
4) (@) () (i1) (vi)

Standardised tests are different from locally devised tests in that, they
(1) have norms as well as technical support.

(2) have norms, uniform administration and scoring.

(3) are more valid than locally developed tests.

(4) have greater flexibility.

Triangulation is a process of

(1) organizing and categorizing data from three different sources.

(2) cross-validation among data sources and data collection strategies.

(3) combination and subsuming of new categories that make empirical sense.
(4) displaying data and organization of assembled information.
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47.

48.

49.

50.

Ethnographic research problem begins with

(1) alist of variables

(2) aresearch hypothesis

(3) aresearch question and foreshadowed problems
(4) a statistical hypothesis

In a research study, the problem formulated was as follows :

Mother’s educational and professional status in relation to achievement motives of
high school students belonging to coastal and non-coastal areas as influencing the learning
outcomes in the subjects of social science and languages in the State of Tamil Nadu.

Identify and label the following four variables of research in this problem and select
appropriate code.

Label of the variable Variable indicated in the problem
(a) Independent variable (i)  State of Tamil Nadu
(b) Dependent variable (i) Mother’s educational and professional status
(c) Moderator variable (i11)) Achievement motives of high school students
(d) Control variable (iv) Coastal and Non-coastal areas.

(v) Learning outcomes
(vi) High school students
Codes :
(a) (b) () (d)
(C) RN ©)) (i1) (iii) (v)
2 (iii) (1) (i1)
(3) (i) (v) (iii) (1)
@ (v (V) (i) (v)

In action research design, which of the following combinations of approach can be
considered as important ? Identify the suitable code from the list given below :

(i)  Reflection (i1)  Critical analysis of the situation
(11) Participatory approach (1v) Structural analysis

Codes :

(@, (1), (iii) (2) (i), (1), (1)

(3) (), (i), (1) (4) (), (i), (1)

Standard error is an index of

(I) Standard deviation

(2) Errors due to measurement

(3)  Errors due to sampling

(4)  Error due to the selection of probability level
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47. J-STE SFEYF i wEE, el 9 @ fhad Ry g ¢ ?
(1) == g
(2) G I ARSI
(3) ITTEY YA 3R ganiiad gHEeEn
(4) WiteTH RepedT

48. UH I 37eATA H U g8 GHET 79 UHR o :
AATE T T 3R AT &7 & BTewhel TR W UgH ool [Nt o qriies fame o iR
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(a) (b) (© (d)
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@ (v (@{v) (i) v)

49. THATCHE SHEYUH ATHed § NG H T SUNTH % HiF-9 I T Feaqol THT ST Fehell
& 2 - <1 TS gt W S e H fafed Hifg
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(i) AfqeRTar T (iv) T fovetsoT
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() (), (i), (iii) (2) (iid), (ib), (i)

(3)  (iv), (iid), (i) 4) (i), (iib), (i)
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